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CT Übungsaufgaben 
ADC 

 

1. Offset errors 

a. Draw the transfer function of an ideal 3-Bit ADC. VREF is set to 2V. 

b. That ADC has an offset error of -1.5 LSB. 

I. Draw the new transfer function 

II. Convert the LSB in volts 

III. Convert the offset error in Volts 

IV. Calculate the offset error in % of FSR 

 

 

2.  Programming the ADC 

Consider the ADC registers and addresses given below. Assume that the ADCs are properly 
initialized and started for regular channel conversion. 

Write C code (including correct register addresses) to do the following: 

a. Wait until ADC1 conversion has completed. 

b. Set an 8-bit variable (var2) to 0xFF if there was a loss of data on ADC2, otherwise 

reset that variable to 0. 

c. Set ADC3 resolution to 10-bit. 
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